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OM 10 Roll Nustbor and your siane on top of the question Papar in the given space.
 lead 1o unasallability of Result

Write your 12 ¢

Filling up improper Roll Numbe

Write your answers(A, B, C.D or B} in il given box [ in the quostion paper with Pen/Puncil.

The question paper co e
Do not start attempting tho fest paper until you aro asked to do so0.

— ]

(A) Equilateral triangle
(8) Isosceles triangle
(€) Scalene triangle

1
2
3. “Tho question papsr consist of 40 quastions. Each question carry equal masks 2.5
.
3

1. Which one of the following options has
two consecutive composite numbers?

(A) 68 (8) 89
(€) 12,28 (D) All of these (D) trreglar triangle
(€) None of these Answer | (€) None of these Answer[]
2. 5%1000000+3 x 100000+ 2 x 100 +1x 10 | & What is the missing number at the centre
e of square?
(A) 53215 (8) 530215
(C) 5302015 (D) 5300215

(£) None of these Answer[]

3. Which one of the following kinds of
triangle is the following figure?

/
s2en / 320
\ (a) 20 (8) 10
(€ % (0) a0
sem € {E) None of these Answer[]
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e S e
the shaded and unshaded part s
of the figure into fraction and then diege | (€) 17 I of ey
nshaded part with shaded part, What wi (€) None of these Answer[]
fon? e el
e the resutant fracion 9. Solve the following:
=] 57519x(15-25)+ 16
a3 (A} 82 (8) 83
s (€ 1 (0)-14
1 (E) None of these Answer|
B et g
o » 10. Write 500 in Roman Numeral,
(€) None of these Amswer[] | TN 8) ¢
= € o) m
& ghe follawing bar graph shows height of
S 8irls in a class. In a sporting evens only | (€) None o these e
those girls can participate who hay. 1 fractions 4
height of 138 m. Find how much - Arange. the fractions T
the shortest girl given in the graph nac. descending order?
1o increase to participate  ip the A hr el 9
competition? W3>5%5°% 0 2>
L T
i = © 1673775 (0 67
W - f “ (E) None of these
L= S 12,9 x7=
v R S B 14
Tastalall il L] J L fill the blank?
(A) 20cm (8) 18em w2 ()1
{€) 16em (D) 14cm 9
None of these Answer 14 3
== Ll (€= o) =
7. Which of the following numbers given in 9 12
the figure is/are not divisible by 3?2 {E) None of these Answer ]
% divisible by 19: :
5 4z
=5 (A7 (81
[NEN— ()9 (0)8iges .
~ \\J (€) None of these _ Answer[]
(A) 234and 320 (8) 320and 108 \
(€) 198and23a () 330 many should be added to
(€] None of these Answer Y the clock 10 make it
8. Fractions taken from the figure are i
wweitten in the options. Which of the
following is/are proper fraction{s)?
e (R) 10 minutes  (8) 15 minutes
3

s 4y 2|

REFON'10/BHN,
T o e dbbets

() 25 minutes

(D) 30 minutes
(E) None of these

Ansver[]
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4

of fishes. One <_ =~ represents 15

fishes . How many fishes does Lehman has
inallz

Guppy

=<

i

Zebrafish
Fan=—<i

{A) 220 8) 210

(€) 230 (D) 230

() None of these Answer[]
16. Find the missing angle.

{A) 90" (B) 98*

{C) 100* (D) 40*

() None of these Answer[T]

17. ¢ 27 angle of the following triangl
&\

T
(A) 50" (8) 60"
{€) 59* (D) 61°

(€} None of these Answer[[]

18. The length and breadth of the following

figure are given. What would be the
imetre of the figure whose length and
breadth Is four times than the given
figure?

REF/iOM'10/BHN

() ascm” "
(€) 88cm
(€) None of these

(8) 22cm
(D) 48cm

Answer ]

19. Which one of the following fractions can
be changed into improper fraction?

: i
™ ®
V] 1n 35
©7 o}

(€) Nane of these Answer[]

20. Solve the following question and write the
result in Roman Numerals: 171 + 19 % 12 -

38-17
{A) il (8) XL

(€) XK1l (D} Al of these

(£) None of these Answer[]

21. The sum of the factors of which one of
the following numbers is double than the
number?

(A} 24
(€) 34
(E) None of these

(8) 28
(D) 18

Answer[]

22. The desks in a classroom are arranged in
straight rows. John isin the third row from
the front and the fourth row from the
back. He is also third from the left end of
a row and fifth from the right. How many
desks are there in the classroom?

(A) 22 (8) 30
(€) 35 (D) a2
()56 Answer[]

23.13x means 1 % 2 x 3, thus 3x = 6 and if 4x
means 1x 2 x 3 x4, thus ax = 24, then 6x

is equal to
(A) 120 (8) 384

(€) 720 (D) 1008

() 5030 Answer[]

24. In a triangle the sides are given as x, y and
2. The sum of length of sides are indicated
using letter p. The length of pis equal to

Axyee (8) x+y-z
(C) x+y+z (D) All of these

(E) None of these Answer[]




[image: image4.jpg]25. (2P =2x2x2and 25 =2x2x2%2x2) 0
2%+ 3 = 41, where x and y are natural
numbers, then the value of x + y is

(A) 9 (8) 8

©7 )6

(£) 5 Answer[[]

26. Alex s trying to find the sum of all prime
numbers between 0 and 20. He mistakenly
left one of the prime numbers and found
the sum is 70. Which one of the following,
numbers Alex left while adding?

(A] 2 (817

(€ v () 19

(E) None of these Answer[]

Which one of the following is not true?

(A} The difference between two consecutive
multiples of a number is the number itself

(8) The difference between two consecutive
composite numbers is always 2

{C) The difference between two consecutive
odd numbers is always 2

(D) The difference between two consecutive
even numbers s always 2

() None of these

If the one fourth of radius of a circle is 7
cm then the diametre of the circle is?

(A) 28cm (8) 1dcm

(C) 56cm. (D) 26em

(E) None of these

27.

Answer[]

28.

Answer[]

(c) 18 (0) 19

(£) None of these Answer[J

32.What Is the difference between pl
value and face value of 9 in the numl
9807052

(A) 898991

(c) 899901

(€) None of these

(B) 889991
(D) 879991

Answer [

33. How many 5 rupees note make Rs 9152
(4) 181 (8) 182
(c) 183 (0) 184

(€) None of these Answer [

3. In which one of the following opposi
sides are not equal?

(K) Square (8) Rnombus
(€) Rectangle (D) Trapezium
(E) None of these Answer[;

35. Fifth day after today will be Sunday the
which day it was on day before yesterd:
(A) Tuesday (8) Thursday
(C) Wednesday (D) Sunday
(€) None of these Answer [}

36. The cost of 2 pen s $7.50, 2 pencilis $5.5
2 eraser is $ 3. What would be the co
1pen, 1 pencil and 1 eraser together?
(A) 5 dollar (8) 8 dollar
(C) 13 dollar (D) 15 dollar
(E) None of these

. To g to his native place a boy travels 20h
8 min by train, and then he travels 3h 12
min by bus and then travels Sh 6 min by
boat. How long does he travel?

(A) 2days 8hrs 28mins
(8) 2 days10hes

(c) 3daysahes

(D) 1 day 8hrs 26mi

{€) None of these.

. 13568 is a six digit number
exactly divisible by 24. Find the
will come at the place of a?

(A) 1 (8) 2

€3 (0)a

(E) None of these Answer[[]

Find the sum of digits of the resultant
number in (1052 ) 2

31

37. Add 345 + 876 + 1004
(A) 2225 (8) 2215
(c) 2315 (D) 2125

(€) None of these Answer [~

38. Subtract 90750 from 87

(A) 16 (8) 17





